
Άσκηση 8 βιβλ. Ηλεκτροτεχνία σελ153 

 
 

 
α΄τρόπος (Μζθοδος Kirchhoff) 

 

 −𝐸1 + 𝑅1𝐼1 + 𝑅3𝐼1 − 𝑅3𝐼2 = 0
−𝐸2 + 𝑅2𝐼2 + 𝑅3𝐼2 − 𝑅3𝐼1 = 0

 ⇒ 

 

 

 −𝐸1 +  𝑅1 + 𝑅3 𝐼1 − 𝑅3𝐼2 = 0

−𝐸2 +  𝑅2 + 𝑅3 𝐼2 − 𝑅3𝐼1 = 0
 ⇒ 

 

 −100 +  30 + 10 𝐼1 − 10𝐼2 = 0

−60 +  15 + 10 𝐼2 − 10𝐼1 = 0
 ⇒ 

 

 −100 + 40𝐼1 − 10𝐼2 = 0 ⇒ 𝐼1 =
100 + 10𝐼2

40
= 2,5 + 0,25𝐼2

−60 + 25𝐼2 − 10𝐼1 = 0
 ⇒ 

 

 𝐼1 = 2,5 + 0,25𝐼2
−60 + 25𝐼2 − 10 2,5 + 0,25𝐼2 = 0

 ⇒ 

 

 

 
𝐼1 = 2,5 + 0,25𝐼2

−60 + 25𝐼2 − 25 − 2,5𝐼2 = 0 ⇒ 22,5𝐼2 = 85 ⇒ 𝐼2 =
85

22,5
= 3,77𝐴

 ⇒ 
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 𝐼1 = 2,5 + 0,25 3,7 = 3,42𝐴
𝐼2 = 3,77𝐴

 ⇒ 

 

𝐼3 = 𝐼1 − 𝐼2 = 3,42 − 3,77 = −0,35𝐴 

 

 

 

 

β’ τρόπος (Μζθοδος επαλληλίας) 

 

 
 

 

 

 

γ’ τρόπος (Μζθοδος Thevenin) 

 

 

𝑅𝑇ℎ = 𝑅𝐴𝐵 =
30 ∗ 15

30 + 15
=
450

45
= 10𝛺 
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−𝐸1 + 𝑅1𝐼 + 𝑅2𝐼 − 𝐸2 = 0 ⇔ 

 

−𝐸1 +  𝑅1 + 𝑅2 𝐼 − 𝐸2 = 0 ⇔ 

 

−100 +  30 + 15 𝐼 − 60 = 0 ⇔ 

 

 

45𝐼 = 160 ⇒ 𝐼 =
160

45
= 3,55𝐴 

 

 
 

𝑈𝑇ℎ = 𝑈𝐴𝐵 = 𝐸1 − 𝑅1𝐼 = 100 − 30 ∗ 3,55 = 100 − 26,4 = 6,67𝑉 

 

ή 

 
𝑈𝑇ℎ = 𝑈𝐴𝐵 = 𝐸2 − 𝑅2𝐼 = 60 − 15 ∗ 3,55 = 60 − 13,2 = 6,67𝑉 
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Ισοδύναμο κύκλωμα Thevenin 

 

 

𝐼 =
𝑈𝑇ℎ

𝑅𝑇ℎ + 𝑅3
=

6,67

10 + 10
= 0,33𝐴 

 


